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Code : 011404
B.Teeh dth Semester Examination, 2017
Ficld Measurement
Time : 3 hors Full Marks : 70

Instructions :
(il There are Nine Questions in this Paper
(il Attempt Five questions fn all
(i) Onestion No. 1 is Compulsary.
(i) The marks ave indicated in the pight-hand margin.

1. Answerany seven of the fillowing guestions. 14

(i) Theobjectof suneyingis 1o prepiee
(a) drawing
(b crosd-section
(c) mup

(&) Tl1tdiagunalm.a[ci5uszdmrim:!
() orzuni
{b) i units

(¢} three consecutive urits

PTO.
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i) € ompssativg erroe is proporionnl o
.
WETTI
fe) 1
(1) A el i i o be well-conditioned when itsangles
stiouled liebetween
fup 30°
(b) 20%aad 150"
{e) 15%and 135"
(v nemoptical square, the mirmors e fved atan angle of
fu) 30°
(b 43"
(e} 60F
(v The et object of ranning a e line s
() tocheck accuracy of wark
{b) to take detaiks of 2 nearby objects
{¢) totakean offset for detailed surveying

(d) nongofthe above
(vil) In aprigatic compss, the 2g10 15 marked on the

{1) northend
Code: 011404 1




LRI T T 5 I A e

RO AR LS I AL A

(IS

T

54 State the advantages and diswdvaniages of plane lible

survey over other types ol survey. 7

Duseribe the provedure of seting up e plirse table over

1 slation, I
6, () Whmlswipmzﬂmlthmdnm'mmﬁb:dmmthﬂd
aloage with s shetch B

(b) The following set of ohservations were taken m.mch.a
piven point. Fomn thispaint onwardsa risinggradieatof |
in1 15 starts, Celculate the required stuff reading for the

rertaining four points. Thess points mspaoedm:::
equal distance ol 10 meach,
giNo. BS IS F§ EL Remarks
1 3.230 70,500 BM
| | cr
2 2,300 2H00
3 1830
1,500
: 794 |30 cP m.
” ’ piven point
slope starls,
b : s
2 paint
1 , : it
: ' |1|'Ip"fiﬂt
> - 5 PT.0.
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Loy \."F';Ti-lr-.- Shart totes on amy tire;
T Raoging

ik Suevesors Compass

Ly Orwienttion

(1) Tachometry

wkk
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1 (1) What are the charnetesisties of contour lines? @
7 i

(b) The fllowing offsels were taken at 15 mintervals froma

survey linz to anirregular houndary line: 3.50, 4.30, 6,75,

5.25,7.50,8.80,7,90,6.40, 4.40, 3.25 m. Calculate the

avea enclosed between the survey line, the imegular

boundary,and the first and lastoffsets, by wsing Simpson’s
©orle ' ]

)yﬁemrlb& thee method of determining the constants of 4
tachometer from field measurement, 6

() Inatachometric surveythe insinmient had  multiplying
i}
comstant of 100 and was fited with am anallatic lens. The
statfwis hebd nommal o the line of sight and the following
observitions wer laken:

Imﬁ;mjmn[leiglwf Staflar Vestical  StalT readings

© Station s angle

0 lam  BM - -30° 1400, 2.140, 2880
a Lem  CF +3 200 1205, 1795, 2385
A lém CFP -5" 30" 1303, 2010, 2,625

If the RL of the BM is 192.105m, caleulate te RL of
testation A, §
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